Efficiency vs dr

=
N

efficiency vs AR
=)

—_—

0.95
107

—i— DQM_TT_mkFit-D M 1 7 updatemod127

e
o

111
origina

I
OM
—_— /dataz/leglann|/standal6ne May24/CMSSW 13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_mod_up
T __mKkFit-DQM_update-mod127

Hatedmod-127

1072

[ Efficiency vs dr (track,jet) |

0.8

efficiency vs AR(TP, jet
o o o o
D U o N

o
w

Efficiency vs pu

1072 1
AR(TP, jet)

efficiency vs PU
©c o o o o
N ul ) ~l o]

©
w

093630 40 50 60 70 80 90 100

Pileup

1
TP min AR

-1



	Contents
	Page 1


